RN Z / Components
No. & / Part name #E / Pcs #ME / Material £ - REAULIE / Color-Finish
1 |oL—4 4 TILEIRL T A6063S-T5 U=, TSuh - TILTAh & ST R
Frame Extruded aluminium A6063S-T5 Silver , black * Anodized & clear coated
2 |a—F—TJoysy 4 ABS#ihE UL94HB SALTL—, TS5vY
Corner block ABS UL94HB Light gray , Black
3 |3—+—Fvv7 /Blind plug 8 ISRkT / TPE SANTL—, TSvH
Light gray , Black
4 | INAAHINR)IL / Slide panel 1 T JLEAR / Aluminium A1100P t=1.5 D ILIN—=TF JL A / Silver * Anodized
7 LR / Aluminium AT100P t=1.5 J5w%y - B% /Black - Painted
5 C1EH /SR JL / Screwed panel 1 7 JLEHR / Aluminium A1100P t=1.5 S JLIN—TF LAk / Silver * Anodized
7 JLER / Aluminium A1100P t=1.5 J5y%9 + FE / Black * Painted
Z 6 |WHER (Max 15 F~) e =flioas—
Screw (M4 — 15 Pan head) Steel Trivalent chromate
7 | B{FER (M3 x 5 EEft5m) 4 % oL AvE | ZlEI/AA—k
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
8 |/\>FJL / Carrying handle 1 TILSHHH AB063S-T5 L2 TSVIT LA ALERH L N—T LI/
Extruded aluminium A6063S-T5 Silver , Black = Anodized
9 |EfTER (M4 x 10 FRSW{T) 2 #% =ffiynA—k
Screw (M4 — 10 Pan head with spring washer) Steel trivalent chromate

-
&
& il
\ L/
mn/Title i —
TAKACHI| #ARMINFERIR AR LA R E— LAY R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CONTROL BOX with CARRYING HANDLE
: RE/Scale
&/ Approved UK /Created | &1%/Prod b
B HREIFERED) / Color Type(End of product number[d) & pprove 1RE/Checked BB/ Create #/Product number
505 / Code | /S#JL /Panel |JL—L /Freme | 2—7—/ Corner | /\2FJL / Carrying handle FCH8-35-25]
GS 2 )LIN— / Silver S JLIN— / Silver SARJL— / Light gray S LIN— / Silver iR x iR ’ " s
58 2599 / Black 2599 / Black 9594 / Black J5v% / Black feiE/Date  2021/02/09




TL—L 118l / Framel side

350
126.5
L —L3M8l / Frame3 side B

29.7

i E)

250
]
|

L —L2{8] / Frame2 side

A-A(1:35)
INAAFHINRILERI~T % / Slide panel MAX dim. 310
E~ti% / MAX dim. 304

REIEDH/SARILEZI~TiE / Screwed panel MAX dim. 304

38.2

TL— LAl / Frame4 side

75.4
13

B-B(1:35)

B#~Ti%& / MAX dim. 69

6.5

$<T3i% / Slide panel MAX dim. 210

%
S~3% / MAX dim. 204

%

]

INFRAFHINRILE

C: 7L—LYLEKE / Frame cross—section

38.2

RBUIED/SRILEBTiE / Screwed panel MAX dim. 204

S

_lC

FvkL—JL / Nut rail
ATAEFyhRE

AFZA T av g RSARF Y FZ-3 EANDENHEFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title

NURILFarra— LRV S X
CONTROL BOX with CARRYING HANDLE

o]

A& 8/ Approved

1% [X|/Checked

£

#IX]/Created

iR

R /Product number RE/Scale
FCH8-35-2501 1:35
feF.B/Date  2017/05/23 2/ 5




4.05
1.2

18.1
8.7

18.1

8.7

2—¢4.5
O 0]
I |
e S ——
120
19.7
13.7 L —L\1 / Framel
8.2
304
= % ™~ é =
| I :
[/ ]
/| '8 < ~ ~ :
| 57 g ) ) fg
5\\| o)
1, <

&
i

N

ne

13.7 4-M4
22.7
< o S
FwkL—JL / Nut rail
2-M3 5 294 5
: | s L —1\2 / Frame2
5)
I i
e — J
fnd/Title
TAKACHI| #RXettshFEHTE TU—L1 .2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel, 2
R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
H75.4 — W350 1:2
P T thiR 3/ 5
YERE B /Date 2017/05/23




4.05

18.1
8.7

18.1

8.7

19.7

4 13.7
L —.L3 / Frame3
8.2 204
N
= |
3 D 3 7 | |
— (S ]
/| 1.8 <
< ™~
| 57 & ©
g‘l (S
< 9 137 4-M4
22.7
FvkL—JL / Nut rail
< % &
2-M3 5 194 5
JL—.L\4 / Frame4
L= e
% l:ff- : |
CJ &3
& \
S 2
G2 .! I |
==

ma /Title
BRRUINTFERTE JL—L3 .4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3, 4
R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
H75.4 - D250 12
x 18 . .
{ERL H /Date 2017/05/23




INAAFHFINAIL / slide panel

BTk / MAX dim. 210

A#~ti% / MAX dim. 310

J\NZ:JLFRE/Panel Frontside

RC1EH /AL / Screwed panel

Bah~t% / MAX dim. 204

A% / MAX dim. 304

(—&—

\—9—

N2 JLFRE/Panel Frontside

REES—MA

Surface protective film side

fREE—MMA

Surface protective film side

321.9
|
|
|
2l +-——- —t—
N
|
|
|
/I\AJLEE /Panel Backside
3215
4-24.2
294
ﬁ?l —?—I -)
|
|
|
|
|
|
\ ‘I —Q-—)
I\FJLZEE/Panel Backside
A /Title A —
PN = .
TAKACHI| #RXettshFEHITE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 &R/ Approved 1#[X]/Checked #X/Created #13 /Product number RE/Scale
W350 - D250 13
iR £ iR s
e B /Date 2020/07/08




